
नाम: 　　　　　　　 िदनांक: 　　　　　　  ोर: 　　　

ब पदों का गुणन

(8 − 3x)(3x − 2) (8 − 7x)(5x − 5)

(6 − 3x)(4x + 4) (1 + 9x (2x − 6)2)

(3 + 8x)(6x − 7) (6x + 7)(4x − 2)2

(2 − 4x (6x − 2)2) (4x − 9)(2x + 9x + 9)2

(x + 5)(5x − 6) (2x − 7)(4x − 1)
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नाम: 　　　　　　　 िदनांक: 　　　　　　  ोर: 　　　

ब पदों का गुणन

(8 − 3x)(3x − 2)

−9x + 30x − 162

(8 − 7x)(5x − 5)

−35x + 75x − 402

(6 − 3x)(4x + 4)

−12x + 12x + 242
(1 + 9x (2x − 6)2)

18x − 54x + 2x − 63 2

(3 + 8x)(6x − 7)

48x − 38x − 212

(6x + 7)(4x − 2)2

24x − 12x + 28x − 143 2

(2 − 4x (6x − 2)2)

−24x + 8x + 12x − 43 2

(4x − 9)(2x + 9x + 9)2

8x + 18x − 45x − 813 2

(x + 5)(5x − 6)

5x + 19x − 302

(2x − 7)(4x − 1)

8x − 30x + 72
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